Section 5-5: Direct Variation
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Graph of direct variation

e The graph must be alline|that

passes through

the origin.

Section 5-5:  Direct Variation
Direct Variation is a special Linear Function.

e It has a constant ratio _Y_ _
X

k = the Variation Constant

e Direct Variation Equation:
Y _

5 or y=Kkx

Does each table represent Direct Variation?
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Does each graph represent a Direct Direct Variation Equations:

Variation relationship?
-.\. —
1. 7 ND 5 = k . = Jox
N Is each equation direct variation?
If yes, find the variation constant.
NO
2. 6+7y=5-3x+1 yti

3. 4,
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%1 ‘ﬂ{ —2¥ This Equation
_ ; “1 DOESN'T have
This Equation has a constant _] a constant so it
which means it CAN'T be —~ =Y lcAN be written

written as y = kx \( - in'y = kx form.

Given the table shows a direct variation relationship, 1. Use this table to write a Direct VVariation

find the value of 2. write & use a equation.
x|y I Direct Variation ‘\/
To solve Direct Variation situations [, 5 ESa“O” Al ¥ IS
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Remember the phrase: "y varies directly with X"

g
The amaunt of water in the tub varies directly
with the amount of tifle the water has running.

After 5 minutes there are 12 gallons in the tub.

3 Y=2.4 o in

1. Model this situation with a Direct Variation

equation. \{? =249 on ;L T
2. Find the amount of time it takes to fill a_32
gallon tub. J 521 Q%X
W= ol or use a A 24 = .
;\ 24 proportion X= 1’6 / min
X —= \'—2)\/3 AN

The point (6,11) is on the graph of
a direct variation relationship.

Write an equation for this Direct Variation.
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The u ners built

varies directly with the number of

ers~in the factory.
When there are 120 workers on the job
270 air conditioners are manufactured.

1. What is the variation constant?

)4 v D10AC.
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3. Find the number of air conditioners that can
be produced if there ar@orkers present

= [ /
Use a Direct Variation Equation: Y = 2.25(140) = 219 AC s

Or use a proportion (Row_  |4ow /_/A

210 Aac ‘& AcC

2. Write a direct variation equation to
model this situation.

Graphing Direct Variation.

1. Graph irect variation that contains
the poipit (-3,2)

| Plot the point (-3,2) and (0,0) then
\\ E connect them to create the line representing
I Direct Variation.
TN If more than two points are needed you can
) use these two to find the slope then find
. more points using the slope.




